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Lesson 4

2.5 Continuity
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Where are each of the following functions discontinuous?
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13-16 Use the definition of continuity and the properties of limits
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19-24 Explain why the function is discontinuous at the given
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(a) Show that f has a removable discontinuity at x = 3.
(b) Redefine f(3) so that f is continuous at x = 3 (and thus the

discontinuity 1s “removed”).
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47. For what value of the constant c 1s the function f continu-
ous on (—oo, o)?
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48. Find the values of a and b that make f continuous ( — o0 L, Qo‘\
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48. Find the values of a and b that make f continuous

everywhere.
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49. Suppose f and g are continuous functions such that g(2) = 6
and lim, > [3f(x) + f(x)g(x)| = 36. Find £(2).
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8| Theorem If f is continuous at b and lim g(x) = b, then lim f(g(x)) = f(b).
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50. Let f(x) = 1/x and g(x) = 1/x".
(a) Find (fog)(¥). ——— > [ (90)
(b) Is fe g continuous everywhere? Explain.
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